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Classification

1. KNN (K-Nearest Neighbour):
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Classification
1. KNN (K-Nearest Neighbour):

from sklearn.preprocessing import StandardScaler
standardizer=StandardScaler ()

X=standardizer.fit transform(Xfeatures)

from sklearn.model selection import train test split

X train, X test, y train, y test = train test split(X, Y,
test size=0.3)

from sklearn.neighbors import KNeighborsClassifier
model = KNeighborsClassifier ()
result=model.fit (X train,y train)

y_pred = model.predict (X test)

from sklearn.metrics import confusion matrix
a=confusion matrix(y test, y pred)
import seaborn as sn

sn.heatmap (a annot=True
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Classification

2. SVM (support vector machine)
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Classification

2. SVM (support vector machine):

from sklearn.preprocessing import StandardScaler
standardizer=StandardScaler ()

X=standardizer.fit transform(Xfeatures)

from sklearn.model selection import train test split

X train, X test, y train, y test = train test split(X, Y,
test size=0.3)

from sklearn.svm import SVC
model = SVC()
result=model.fit (X train,y train)
y_pred = model.predict (X test)

from sklearn.metrics import confusion matrix
a=confusion matrix(y test, y pred)
import seaborn as sn

sn.heatmap (a annot=True
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Py X) = “pty
X = (x1,22,23, ..., Tny)




Classification

3. Navie Bayes

from sklearn.preprocessing import StandardScaler
standardizer=StandardScaler ()

X=standardizer.fit transform(Xfeatures)

from sklearn.model selection import train test split
X train, X test, y train, y test = train test split(X, Y,
test size=0.3)

from sklearn.naive bayes import GaussianNB
model = GaussianNB()
result=model.fit (X train,y train)

y_pred = model.predict (X test)

from sklearn.metrics import confusion matrix
a=confusion matrix(y test, y pred)
import seaborn as sn

sn.heatmap (a annot=True
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